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1.) If A=4x2+5x-8and B = =2x2=4x+ 4, what is the difference of
H‘-H‘H-H__/

2.] What is the value of x that satisfies the equation:
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3.) The table below shows the average yearly balance in a
savings account where interest islcompounded annually.’No
money is deposited or withdrawn after the initial amount is

deposited.
Year Balance, in Dollars

0 380.00
10 562.49
20 832.63
30 1232.49
40 1824.39
50 2700.54

Which type of function best models the given data?
/{,H/Iineor function with a negative rate of change

427 linear function with a positive rate of change

(3) exponential decay function
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((4) exponential growth f
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Write the equation for the line of best fit for the data
shown in the above, to the nearest thousandih.
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4.) What is the correlation coefficient of the linear fit of the
data shown below, to the nearest hundredth?
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State one point that lies in the solution set S
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.) A student was given the equation x2 + 6x — 13 = 0 to solve by
~ompleting ﬂ\\E square. The first step that was written is shown
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tate the value of ¢ that creates a perfect square frinomial.

A A AR -;/37“

2

-

X <rex+| 9

(x+3)%= 22
T
§/g/ 11'__>/2/,7L 5}2_— 20 = Q
V\{I [C)( ﬂ:‘/}"’/_j
/a‘ ot

~ 90 bock ward(s

Explain how the value of ¢ is determined.
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7.) What is the equation of the quadratic shown in 'rhE graph below?

Hint: create a table. ﬂ “Z[X o)+ O

8.) What is the equation of the piecewise function shown in the
graph below? Show your work or explain how you got your equation.
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SJ 9.) Write an_equation that defines m(x) as a trinomial where
m{x)= (3x = 1)(3 - x) + 4x2+ 19.

mOO= 3 (3-5)=1 (3-3) # 5% 7/ 7
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Solve for x when m(x) = 0. ‘ /&
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10.) Draw the graph ofy = Jx+2 onthe set of axes below.
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11.) The wn of a sample of a chemical compound is
represented by the function p(t} = 300(0.5)1, where p(t) represents
the number of milligrams of the substance and t represents the
time, in years. In the function p(t), explain what 0.5 and 300

represent. /({>f 300 (Qf)é
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